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37. The Statue of Unity situated in Gujarat is the world’s largest Statue
which stands over a 58 m high base. As part of the project, a student
constructed an inclinometer and wishes to find the height of Statue of

? Unity using it.
He noted following observations from two places :
Situation-1:
The angle of elevation of the top of Statue from Place A which is 80\/3 m
away from the base of the Statue is found to be 60°.
Situation - II :

] The angle of elevation of the top of S_tatﬁe from a Place B which is 40 m
above the ground is found to be 30° and entire height of the Statue
including the base is found to be 240 m.

" Based on given information, answer the following questions :
(i) Represent the Situation —1I with the help of a diagram.

(i) Represent the Situation —II with the help of a diagram. %]

(iii) (a) Calculate the height of Statue excluding the base and also find

it the height including the base with the help of Situation - I 2
OR

(i) () Find the horizontal distance of point B (Situation — I) from the
~ Statue and the value of tan a, where a is the angle of elevation
of top of base of the Statue from point B. 2
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'80. Check whether the following system of equations is consistent or not.
: If consistent, solve graphically

x—2y+4=0,2x—y-4=0

| /31") 1t the points A6, 1), By, ), C®, 4) and D, o) are the vertices of a
B parallelogram ABCD, then find the values of p and q. Hence, check
whether ABCD is a rectangle or not.

SECTION-D
This section has 4 long answer questions of 5 marks each.
| 32. Following data shows the number of family members living in different
i bungalows of a locality :
Number of Members [0-2 '2-4. 4-6 6—8 8-10 Total
Number of Bungalows | 10 60 120
If the median numberofmemberslsfoundbobe 5, ﬁndthevalues of pand q.

(@ There is a circular park of diameter 65 m as shown in the following
figure, where AB is a diameter. !

Anentrygate:stobeconstructedatapmntPonthaboundaryofthe
parksuchthatd:stancecfPfromAwSﬁmmorethanthedmtanca
~ of PfromB. Finddmtanceot(;pRothﬂomAandBrespectwely
: {h) rtﬁ?&tul fhe smallest value of p for which the quadratic equation
a2 _2(p+ 1)z + p? = 0 has real roots. Henee,ﬁndthemotsofthe
equatwnsnobtamed
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' exammat.mn, Raya sharpened her pencil fmm both ends
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